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SEC rzog‘zﬁ (40 marks)
&
I. Stale two data access methods in seoﬂng@ storage media (2 Marks)

. 9 5 . s :
2. A school’s sports deparighcnt wants to computerize the running of its operations.

a) Name any 'm%(\sc%‘twaxe packages that can be used by the sports department. (1 mark)
(o
Q
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bé, Explain what each of the ﬂn[lware package above can be used for in the sports department.
QO (2 marks)

3. The diagram below shows part of a directory structure displéycd by an operating systen.
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[. State any two root directories. (2 mark)
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rixplain the following computer mouse tenmntibegies. - (2 Marks)
e .
a) Clicking §
%S
............................................ N
e TS T A
b) Double clicking QJ\%
R
................................ e e e
& _

a) What is an ana}:@ﬁevicc? - : = (1 mark)
__________________ < |
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(So‘ ..................................................................................................
Describe any three ways in which ICT can be used as a tool for civie education ) (3 marks)

I

.....................................................................................................

A computer vendor uses Order Number to identify each 01dcx made by a client. The Order Number is
comprised of a 10-digit number.

@) Explain three checks that can be used to ensure the value entered for Order Number is valid.
(3 marks)

) State two errors that are likely to occur when entering Order Number into a computer. (2 mark)

...........................................................................................................
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8. a) Convert 77,4 to its binary equivéé‘nt. (2 marks)
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b) Using@%its, write the two’ s complement of 774, {1 mark)
X
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&Qzel 0. fl) Give two uses of each of the following types of documentation usually delivered with new
information systems. (2 marks)

\Ql
@ 1) Technical documentation ;
&
i) User documentation
b) State any two functions of an information system in an organization. (2 marks)
11. a) Explain the following terms. (2 marks)

1) Computer network
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ii) Data communication Q¥
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b) State any two rcgﬁrccs that can be shared in a computer network (2 mark)
e _
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12. a) Ieseribe computer crime. (2 marks)
<
Q\Q-) ..........................................................................................................................
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a) List any two examples of computer crime. (2 mark)
13. State three functions of a network administrator. (3 marks)

4. A school’s bookshop sells stationery to students. A database is used to keep details of the stulionery
stock. Part of the database is shown below.

:'C_omz ITEM INSTOCK |SOLD |ONORDER | UNIT PRICE
| C301 | FLOPPY DISK 34 ok A 2 1 50
G101 | RUBBER . 56 | 45 70 10
G102 | PEN 25 23 | 3 20
G103 | PENCIL 110 0 67 5
| M101 | PROTRACTOR 23 440 10 '|
(M201 [RULER 90 69 | 8 ] 10 |
a) List the items output if the following search conditions are executed. (2 Marks)
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i) (Code="M") OR (INSTOCK < 30) N
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1) (ITEM= P* Y AND ([gﬁﬂ" PRICE =10)
R
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b) Siate the most appropriate data types for the following ficlds. (1 mark)
\Q/
O Bt neanasessmmsronsesssespesspons s ossioshons s ¥ SRS SRS
T BRI s e B £ s s e S S
I5. Explain twao types of busses found on the computer motherboard. ( 2 marks)
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Answer question 16 and any other tkrc’ iestions from this seclion in the spaces prowdea’

. a) Distinguish between a pseudo- e‘\rfée and a source code. (2 marks)
. @KI% S .
Describe an executable ﬁlcQ‘ZrQ ' (2 marks)
9\.
Q
Q
| 4 ‘ ;
State three prog@_ control structures in programming (3 marks)
<
&°

2 L
List I@d’l types ol etrors that may be detected during program lesting (2 marks)

&

Daniel lives in Jtaly and travels 1o Mexico, India and New Zealand. The times differences are as
lows:

Country Iours Minutes
Mexico -7 0
India +4 +30
Ncw Zealand =] 1 0

us, if it is 10:15 in Ttaly it will be 14:45 in India.

ite an algorithm, using pseudo code, which:
uts the name of the country
puts the time in Italy in hours (H) and minutes (M)
Alculates the time in the country input using the data from the table
Hputs the country and the time in hours and minutes




File Seruers

(2 marks)

1) Explam any two network topologies that have been employed in the above network. (2 marks)



iv) St v i : i
) Sate two functions of the devices labeled<$ile servers’.

_ : - - (2 marks)

b)Y Fxplain two angArk related data gecurity thraats

s
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18. a) The figure below shows a qpreadsha&f Pused for managing a company’s payroll. Use it to answer the
questiong that follow. 06
6{-.
<

MZ:MASPR:NGST[LES__ o mt e
:unzﬂwfzma sy Lo 2
, : , | ,
yesNo iN " |SALARY. Medscalmiowance :Travel ) _Iifross Pay $Tax Paid
5 33 TomKijana N 34000 34000 . 17000 oo
. 5 ;Sﬁi:zé?}adi Ann Mwaniki o : 4100[1_~ R .':'.2050: -
i ‘%’. 33343 Jane. > Kwamboka 23600 2300, 1150} ;-
% _3MTimothyOkeyo | 1s0000 1900, 9500 )
33345 Msafiri Mghanga 67000 6700l 3350,
_ 33346;Samson Kyale | 54000 - 5400 ';9799“____ B -,_,*_'_ o
EatiroTal | - ) o w
ﬁ?; AdTaxrate - | 00 . o 15%

1) The Gross Pay of an crployee is the sum of SALARY, Medical Allowance and Travel. Write a
formula that would return the Gross pay of Employee No 33343. (1 marlk)

ii} In cell B13, it is given that the Tax Paid is 15% of the Gross Pay. Using absolute cell referencing,
wille the formula that can be used in G5. : (2 marks)

1) Write a single formula that returns the average salary of those employees who earn 40000 and

above. (3 marks)
1v) State how the formula written in GS will read wh=n copied to cell J7 (2 marks)
10
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») 1) Differentiate between formatting and editing as'used.in word-processing. {Z marks)
= o db 1\)‘
........................................ .
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............... ".,....,...@f\.g....;.x....A...............‘..,..,...,...AAA.......‘...........‘....A,......A‘.......A..
i) State four formatti@?%gl'tvities that can be performed on a block of text. (2 marks)
&
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) 1) Lggany two types of DTP software, (2 marks)
2 o
§\ .................
&
i) Explain the purpose of a master page in a publication. {1 mark)

T . g . ; B .
4} A new communications start-up company wishes to put in place security control measures against

A o
potential rJd'ngers: to their computer systems. The company’s directors, awarc that sometimes
C(} ) o i ) . . r 3 e 1 Wt -]
emflltﬁ.‘,l oI ;{nlnflls may penetrate and render havoc on the company systems, also want recovery

mechani striuted. The i i ; s
nel _tn:*;mls instituted. The company has decided 1o contract your company, specialized in systems
e IR - - - 3 e o 1 3 3 3 ) )

tity and control to advice and give recommendations by answering the following questions.

1) Define the term Data Security ' (2 marks)

atd A, - £

11




00
Q}c)
R
KQ
b) State any three Jrovisions that s}é d be included a data protection law. : (3 marks)
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c) 1) Dss@rlbe four major dangers of the Internet (2 marks)
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. \¥ i) List four Internet connectivity requirements. (2 marks)
< |
d) Define the term Data Privacy (2 marks)
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20. a) Explain the following tenninologics@a@fﬁcd in data representation.

1) Word
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ii) Byte N
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D) 1) Using six-bit two’sg complement, perform the following arithmetic.

...................................................................................................

i) Perform the following arithmetic in binary notation.

1011000011+ 111

(3 marks)
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¢) Explain three file organization %&’Qhods. (3 marks)
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d) Stage %c system development stages in theirYogical ord’&&.\ (3 marks)
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